Geometry A

4.1 Angles of Triangles ASSIGNMENT

1. Findm/ZT.
S
%
p=—2 T

3. Find the measures of the numbered angles.
B
/j\
2 63°\ ~
A D C

5. Find the measures of the numbered angles.

58° 1
399

7. Find x.
P
)O\
S x° 55° R
Review:

Name
Hour Date

2. Find the measures of the missing angles.

/AN\

4. Find the measures of the numbered angles.

B
90°
58° 1N\C
108°
E
6. Findm2 1
S
80°
60° 1 _
R T =~
8. Find x.

9. Suppose Z1 and £2 are vertical angles. I[f m£1 =4x + 2 and m£2 = 8x — 14, find m£2.

10. Suppose R is between Y and W. If RY =3x— 10, RW = 66, and YW = 5x + 6, find RY.



Geometry A

Name

4.2 Congruent Triangles Hour Date
ASSIGNMENT
1. If ARTY = AKN Bcomplete each pair of congruent parts:
ZR = =Z4ZN LY =
RT = RY = = NB
Identify the congruent triangles in each diagram.
2. 0 3. M Q
S
P R N O P
ASQP = AMN O=
4. E 5.
m R - T
G S —t U
AEFD= ARVT =
6. Using the diagram on the right, identify each pair of congruent parts:
R —tH T
ZR = LT = ZLTVR = V.
RT = TV = VR = SE—>— U




Review:
For #7-10, select the property, definition, postulate, or theorem from the box below that justifies each
statement. Write the property, definition, postulate, or theorem on the line provided.

reflexive property subtraction property distributive property
symmetric property multiplication property midpoint theorem

transitive property division property definition of an angle bisector
addition property substitution property vertical angles theorem
segment addition postulate  angle addition postulate complement theorem
supplement theorem

7. Ifms4=m/5, then mZ4 +20=m”L5 + 20

8. AD=AD

9. Ifﬁz%and%z&,thenﬁzﬁ

10.  If3(x+2)= 60, then 3x + 6 = 60




Geometry A Name

4.3 Proving Congruence Hour Date
ASSIGNMENT

What household appliance will never be able to swim?

S SRR R T

To find dut,_ identify whether each pair of triangles is congruent by SSS, SAS, or ASA. Circle the
letter that represents this characteristic. Place the circled letters in the blanks at the bottom of the

page above the corresponding problem numbers.

(O) SSS  (T) SAS (L) ASA
(H) SSS (K) SAS (M) ASA
(Y) SSS (B) SAS (E) ASA

4. (8) SS8S (A) SAS (C) ASA
F .
tr | .

5. E } : :, (J) SSS () SAS (T) ASA

6. P /\ (W) SSS (R) SAS (N) ASA

7. & ﬂ (K) SSS (M) SAS (F) ASA




Identify whether each pair of triangle are congruent by SSS, SAS, ASA, AAS or HL. Otherwise, write
“not enough information.”

FAND N 2

4,
) I ’
5 6.
|
7 8- 1)
g
4
9. 10.




Geometry A Name

4.4 Triangle Congruence Proofs Hour Date
ASSIGNMENT
R
. I p—— . . . j— V S
1. Given: RS =TS, Vis the midpoint of RT
Prove: ARSV = ATSV T

Statements Reasons
1. RS=TS L.
2. 2. Given
3. 3. Midpoint Theorem
4. VS=VS 4.
5. ARSV = ATSV 5.

) -— J
2. Given: JK= MK, ZN = /L
Prove: AJKN=AMKL K L
N
M

Statements Reasons
1. JK= MK L
2. ZN=/L 2.
3. LJKN=ZLMKL 3.
4. AJKN=AMKL 4.




T
3. Given: OR|TU, S is the midpoint of OT S

Prove: RS =US v

Statements Reasons
1. 1. Given
2. £LQ=JT 2.
3. S is the midpoint of OT 3.
4. 4. Midpoint Theorem
S. 5. Vertical Angles Theorem
6. AOSR=ATSU 6.
7. RS=US
D

4. Given: L_D = ﬁ’ , GE bisects Z/DEF G\

Prove: DG =FG F%

Statements Reasons

1. £4D=ZF 1.
2. GE bisects Z/DEF 2.
3. 3. Definition of Angle Bisector
4. 4. Reflexive Property
5. 5.
6. DG=FG 6.




Geometry A Name
4.5 Isosceles and Equilateral Triangles Hour Date
ASSIGNMENT

Classify each triangle as scalene, isosceles, or equilateral.
W G
45° 18 18 60°

1.

28° 92°

90°  45° K

R Q
. B 32x
: 5 : 60° 6 : 8x |>A
C 32x
U o AOe
R 60° 60 s

7. Suppose that FJ=FH and HF = HG. If mZFHG =126°, find m £ J.
F

msJ =

J H G

8. Find the value of y and the measure of each side of isosceles AABC if AB=BC, AB =4y, BC=3y+2,
and AC =3y. Show all organized work.

y= AB = BC= AC=

9. Find the value of x and the measure of each side of equilateral AABC if AB=3x -2, BC=2x+4, and
CA =x+ 10. Show all organized work.




x= AB= BC= CA =

10. Find the value of x and the measure of each side of equilateral ARST if RS =2x + 2, ST = 3x, and
TR = 5x —4. Show all organized work.

x= RS = ST= TR =

11. Suppose AJK M is isosceles with vertex angle K. If JK=5x—3,JM =3x+ 7, and KM = 2x + 9, find the
value of x, JK, JM, and KM.

12. Given: AMPR is isosceles with vertex P, P
PN 1 MR

Prove: mz ﬁ

1. AMPR is isosceles with vertex P 1.
2. PN L MR 2
3. MP=RP 3.
4. PN = PN 4.
5.AMPN= ARPN 5.
6. MN=NR 6.




Review:

13.  Find the value of y in the figure at the right. f
< By +12)°
¢ >—>
J (7y - 55)°
Multiple Choice:
14. Given: mZA +mZB = 150.
Conjecture: £A4 and ZB are both acute angles.
Which one of the following is a counterexample to the conjecture?
A. mZA=100and msZB =50
B. mZA4 =45 and m«B =105
C. m£ZA=65and ms£B =85
D. None of the above statements is a counterexample because the conjecture is true.
15.  Which one of the following pairs of slopes are slopes corresponding to perpendicular lines?

A. z andg B. —2 and—i C. _E andE D. Eand—2
3 6 8 2 3 8 15 2

10



Geometry A
Unit 4 Review

Name

Hour Date

1. Find the measure of each indicated angle.

A 20°

mZl =

2. Find the measure of each indicated angle.

1 120°

mZzl = ms2 =

3. Find the measure of each indicated angle.

R S

4. Find the measure of each indicated angle.

80°\V
1 80°
2 1/70° 2 3
o o €
U 35 36 T
msl = ms2 = mZ3 = mZl = ms2 = ms3 =
5. Find the measure of each indicated angle.
80° 40
60° 1 4 5
2 105°
msl = ms2 = ms3 = ms4 = msS =

11




6. Refer to the figure below. Find the measure of each indicated angle if m£6 =5 1° and m£8 = 134°.

4

5 6 7 8
10
9 11
12
mZl = ms2 = msz3 = mz4 = msZS =
msl = ms9 = mZ10= mZll = ms12 =

7. Find the value of x, AB, BC, and AC if AABC 8. Find the value of x.
is equilateral.

(17x + 9)°
10x=6 [x+3 (21x - 3)° (15x + 15)°
Al———C
x= AB =
BC= AC=

10. Suppose AJKM is isosceles with vertex angle K. If m£J = 8x — 5 and m£M = 3x + 25, find mZK.

12. Suppose that AB=DB and CD=BD. If mZA= 31°, find m £ BDC.
B C

A

>

12



mZBDC =

13.  Identify the congruent triangles in the figure below.
Then name the corresponding congruent angles and congruent sides for the congruent triangles.
AFGD= b NS
ZFGD= DG =
ZGDF = FD=
/DFG= FG= B
A

14.  Identify the congruent triangles in the figure below. G
Then name the corresponding congruent angles and congruent sides for the congruent triangles

AMN O= N M
/NMO= MN=
AN = OM =
/NOM= NO=

o L

Determine whether you can prove that each pair of triangles is congruent by using

15.
SSS, SAS, ASA, AAS, or HL. If it is not possible to prove that the triangles are
congruent, write not possible.

a. [ b. c.

K % y [ M
L
d. €. f.
t
g. v 1. S
L R T
U
U
k. 1.
s\ - T~



Given: BD bisecls ZABC

16.
AB=CB
Prove: ABDA = ABDC X
Statements Reasons
1. 1.
2. 2.
3. 3.
4. 4.
5. 5.
B
17. Given: ZA=/C
/ADB = /CBD
Prove: AADB = ACBD
Statements Reasons
1. 1.
2. 2.
3. 3.
4. 4.
18.  Given: P is the midpoint of NS M R
ZN = /S
LMPN=/RPS
Prove: MN=RS N S
Statements Reasons
1. 1.
2. 2.
3. 3.
4. 4.
5. 5.
6. 6.

14




Complete the following proof.
Given: AB || DE

AD bisects BE c
Prove: AC=DC E > D
Statements Reasons
1.
2.
3.
4.
5.
6.
7.
Complete the following proof. B
Given: AE = CF
AABC is isosceles with
vertex angle ZB.
. AT —F ¢
Prove: BE = BC
Statements Reasons
. AE=CF L.
. AABC is isosceles with vertex angle ZB. 2.

3. Definition of an Isosceles Triangle

LA=/C 4.
. AABE = ACBF 5.
6.

15
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